## Informational Report for the August 18, 2015 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	ľ	Maximum Amount	Assign Beg. Date	Assign End Date
Chabot College -	Community Educat	ion										
Haney	Victoria	A.	Chabot	No	Provide Camp Coordinatorship for Chabot's Hayward Promise Neighborhood mentorship program	Community Education	\$ 25.00	125	\$	3,125.00	6/15/2015	7/9/2015
Ragbotra	Kamal	nmi	Chabot	No	Teach fashion design to Community Education students	Community Education	\$ 35.00	8	\$	280.00	7/6/2015	7/9/2015
Woll	Lauren	M.	Chabot	No	To teach Math & Language Arts for Kids on Campus Program	Special Programs & Services	\$ 35.00	35	\$	1,225.00	6/15/2015	6/25/2015
Chabot College												
Abrami	Dan	R	Chabot	No	Provide coordination of the TAACCCT Grant	Student Services	\$ 31.30	480	\$	15,024.00	7/27/2015	12/31/2015
Adams-Bailey	Tracey	C.	Chabot	No	Works as a Sports Instructor for the disadvantaged youth summer sports program	Special Programs & Services	\$ 18.00	100	\$	1,800.00	6/12/2015	7/30/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Ballew	Tracy	I.	Chabot	No	Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	500	\$ 8,000.00	7/1/2015	12/31/2015
						0					
Barboza	Benjamin	E.	Chabot	Yes	Provide support to the Puente Program	Student Services	\$ 18.00	600	\$ 10,800.00	7/1/2015	12/31/2015
Buelna	Linda	J.	Chabot	No	Provide support to the Puente Program	Student Services	\$ 20.00	600	\$ 12,000.00	7/13/2015	12/31/2015
Contreras-Garcia	Karina	G.	Chabot	No	Provide guidance on Student Success Program core requirements for Peer Advisors	Counseling	\$ 20.00	135	\$ 2,700.00	7/1/2015	8/30/2015
Davis	Asti	J.	Chabot	No	Work as an Instructor for the disadvantaged youth summer sports program		\$ 18.00	100	\$ 1,800.00	6/12/2015	7/30/2015
De Castro	Juluo	B.	Chabot	No	Work as a Project Aide for the disadvantaged youth summer sports program		\$ 13.65	120	\$ 1,638.00		7/30/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

				New Emp to				Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division		Rate	Maximum	Amount	Beg. Date	End Date
					Work as a Project							
					Aide for the							
					disadvantaged youth	Special						
					summer sports	Programs &						
Gant	Melissa	M.	Chabot	No	program	Services	\$	18.00	100	\$ 1,800.00	6/12/2015	7/30/2015
					Assist with the	Student						
Gonzalez	Briana	D.	Chabot	Yes	TAACCCT Grant	Services	\$	16.00	300	\$ 4,800.00	8/17/2015	12/31/2015
					Provide specialized							
					services, support							
					specific facility use							
					contracts and							
					support specific	Arts,						
					projects and events	Humanities, and Social						
Grantham	Carl	J.	Chabot	No	for the Performing Arts Center	Sciences	\$	16.00	500	\$ 8,000.00	7/1/2015	12/31/2015
Gianinain	Call	J.	Chabot	INO		Sciences	Φ	10.00	300	\$ 6,000.00	7/1/2015	12/31/2013
					Work as a Project							
					Aide for the							
					disadvantaged youth							
l la a d	Cab via a	_	Oh ah at	NI-	summer sports	Programs & Services	Φ.	40.05	400	Ф 4 COO OO	0/40/0045	0/00/0045
Head	Sabrina	R.	Chabot	No	program Provide project	Arts,	\$	13.65	120	\$ 1,638.00	6/12/2015	6/30/2015
					services for	Humanities,						
					television station	and Social						
Hill, Jr.	James	A.	Chabot	No	operations	Sciences	\$	17.00	600	\$ 10,200.00	7/1/2015	12/31/2015
1, 01.	Jamos	,	Silabot	110	Work as a Project	20.011000	Ψ	17.00	500	ψ 10,200.00	17172010	12/01/2010
					Aide for the							
					disadvantaged youth	Special						
					summer sports	Programs &						
Joseph III	Ronald	J.	Chabot	No	program	Services	\$	13.65	120	\$ 1,638.00	6/12/2015	7/31/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
	T HOUSE		- Citto	2100.100			110.50		7 11110 01110	g a	
Joseph III	Ronald	J.	Chabot	No	Provide service as a Life Guard for the disadvantaged youth summer sports program	Special Programs & Services	\$ 15.00	100	\$ 1,500.00	6/12/2015	7/30/2015
·					Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing						
Kollias	Patricia	nmi	Chabot	No	Arts Center	School of Arts	\$ 16.00	500	\$ 8,000.00	7/1/2015	12/31/2015
Maco	Mercedes	R.	Chabot	No	Provide support to ECD Spanish cohort students	Early Childhood Development	\$ 15.00	30	\$ 450.00	8/22/2015	12/31/2015
Martin	Joseph	E.	Chabot	No	Provide project services for television station operations	Arts, Humanities, and Social Sciences	\$ 20.00	600	\$ 12,000.00	7/1/2015	12/31/2015
Millington	Chilopie	nmi	Chabot	No	Provide ongoing support for the Daraja Program	Disabled Student Programs and Services	\$ 18.00	438	\$ 7,884.00	8/13/2015	12/31/2015
Moore	Rachel	M.	Chabot	No	Provide real time captioning services	Disabled Student Programs and Services	\$ 52.00	500	\$ 26,000.00	7/1/2015	12/31/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Naraghi	Khashayar	F.	Chabot	No	Provide editing and filming project services for television station operations	Arts, Humanities, and Social Sciences	\$ 25.00	600	\$ 15,000.00	7/1/2015	12/31/2015
Perez Tejeda	Sandra	J.	Chabot	No	Provide filming and production project services for television station operations	Arts, Humanities, and Social Sciences	\$	600	\$ 12,000.00	7/1/2015	12/31/2015
Rubino III	Jesse	A.	Chabot	No	Works as a Project Lead for the disadvantaged youth summer sports program	Special Programs & Services	\$ 18.00	100	\$ 1,800.00	6/12/2015	7/30/2015
					Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing						
Rukiya	Isoke	nmi	Chabot	No	Arts Center Provide television programming and downloading project services for television station	Arts, Humanities, and Social	\$ 16.00	500	\$ 8,000.00	7/1/2015	12/31/2015
Sannebeck	Daniel	A.	Chabot	No	operations Oversee marketing functions for the TV Studio, including	Sciences Arts, Humanities, and Social	\$	300	\$ 4,500.00	7/1/2015	12/31/2015
Sechrist	Connie	J.	Chabot	No	rentals	Sciences	\$ 20.00	410	\$ 8,200.00	7/1/2015	12/31/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
					Oversaw design work for Summer	Arts, Humanities, and Social					
Tracy	Jonathan	D.	Chabot	No	Theater Production	Sciences	\$ 50.00	30	\$ 1,500.00	7/6/2015	8/6/2015
Las Positas College -	Community Ed	lucatio	)n	+							
Wagenblast	Kathryn	M.	Las Positas	No	Teach Wellness & Tea to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	7/1/2015	12/31/2015
Las Positas College											
Canady	Karen	M.	Las Positas	No	Conduct PRIDE series bi-lingual workshops for prospective foster parents per Foster and Kinship Care Education (FKCE)	Foster and Kinship Care Education	\$ 65.00	100	\$ 6,500.00	7/1/2015	12/31/2015
Gecox	Heike	nmi	Las Positas	No	Conducts workshops for parents and caregivers	Foster and Kinship Care Education	\$ 50.00	100	\$ 5,000.00	7/1/2015	12/31/2015
Hauser	Gerry	Α.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	100	\$ 5,000.00	7/1/2015	12/31/2015
Hogue	Terrance	A.	Las Positas	No	Provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 50.00	140	\$ 7,000.00	7/1/2015	12/31/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

				New Emp to				Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division		Rate		Amount	Beg. Date	End Date
						Science,						
					Provide services as	Technology,						
					a program trainer for the Paramedic	Engineering, Math & Public						
Hogue	Terrance	A.	Las Positas	No	Program	Safety	\$	75.00	275	\$ 20,625.00	7/1/2015	12/31/2015
rioguo	101101100		aa . conac	1.10	Provides	- Canoty	_	. 0.00		Ψ =0,0=0.00	.,.,	12/01/2010
					coordination and							
					training for the							
					Foster and Kinship	Early						
					Care Education	Childhood				_		
Loyola	Anne	L.	Las Positas	No	Program	Development	\$	50.00	650	\$ 17,100.00	7/1/2015	12/31/2015
					Provide PRIDE							
					training for the Foster and Kinship	Foster and						
					Care Education	Kinship Care						
Evans-Mc Williams	Gwendolyn	Y.	Las Positas	No	Program	Education	\$	50.00	100	\$ 5,000.00	7/1/2015	12/31/2015
	,					Disabled				. ,		
					Provide job	Student						
					development support							
Montalvo	Debra	J.	Las Positas	No	for disabled students	Services	\$	24.00	650	\$ 15,600.00	7/1/2015	12/31/2015
					Provide PRIDE							
					training for the Foster and Kinship	Foster and						
					Care Education	Kinship Care						
Nalls	Rosalind	A.	Las Positas	No	Program	Education	\$	65.00	100	\$ 6,500.00	7/1/2015	12/31/2015
						Foster and				. ,		
					Provide support for	Kinship Care						
Powell	Yvette	L.	Las Positas	No	PRIDE classes	Education	\$	22.00	150	\$ 3,300.00	7/1/2015	12/31/2015
					Decima and nublish							
					Design and publish Spring 2016							
					schedule of classes	Student						
Rothman	Cheryl	A.	Las Positas	No	for the college	Services	\$	25.00	100	\$ 2,500.00	8/31/2015	11/6/2015

## Informational Report for the August 18, 2015 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Schulz	Nancy	nmi	Las Positas	No	To provide mental health counseling in the Health Center	Student Services	\$	21.00	475	\$ 9,975.00	7/1/2015	12/31/2015
Wells	Karen	R.	Las Positas	No	Conducts workshops for parents and caregivers	Foster and Kinship Care Education	\$	75.00	100	\$ 7,500.00	7/1/2015	12/31/2015
District Services												
Alvarez	Miguel	A.	District	No	Provide support for the Workforce Investment Act	Tri-Valley One Stop	\$	31.01	600	\$ 18,606.00	7/1/2015	12/31/2015
Donat	Teresa	G.	District	No	Provide non-credit computer training and consulting services to department and local area companies	Contract Education	\$	85.00	50	\$ 4,250.00	7/1/2015	12/31/2015
	13.33				Provide instruction and consultation to		•	23.30		+ .,=33.00	., ., _ 310	, 3 ., _ 3 10
Patterson	Andrew	J.	District	No	Contract Education clients	Contract Education	\$	100.00	50	\$ 5,000.00	7/1/2015	12/31/2015